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1.  Which of the following statements 1s correct?
A) When a company increases 1ts debt ratio, the costs of equity and debt capital both
increase. Theretfore, the WACC also increase.
B) The capital structure that maximizes stock price is generally the capital structure that
also maximizes earnings per share.
C) All else equal, an increase in the corporate tax rate would tend to encourage a
company to increase its debt ratio.
D) Since debt financing raises the firm’s financial risk, increasing a company’s debt
ratio will always increase the company’s WACC.
E) Since debt financing 1s cheaper than equity financing, increasing a company’s debt
ratio will always reduce the company’s WACC.

2. Bob has a $50,000 stock portfolio with a beta of 1.2, an expected return of 10.8%, and a
standard deviation of 25%. Becky has a $50,000 portfolio with a beta of 0.8, an
expected return of 9.2%, and her standard deviation i1s also 25%. The correlation
coefficient, r, between Bob’s and Becky’s portfolios is zero. Bob and Becky are
engaged to be married. Which of the following best describes their combined $100,000
portfolio?

A) The combined portfolio’s expected return will be greater than the simple weighted
average of the expected returns of the two individual portfolios, 10.0%.

B) The combined porttolio’s expected return will be less than the simple weighted
average of the expected returns of the two individual portfolios, 10.0%.

C) The combined portfolio’s beta will be equal to a simple average of the betas of the
two individual portfolios; its expected return will be equal to a simple weighted average
of the expected returns of the two individual portfolios; and its standard deviation will
be less than the simple average of the two portfolios’ standard deviations, 25%.

D) The combined portfolio’s standard deviation will be equal to a simple average of the

two portfolios’ standard deviations, 25%.
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Which of the following statements is FALSE?

A) When a firm faces financial distress, creditors can gain by making sufficiently
risky investments, even if they have negative NPV.

B) When a firm has leverage, a conflict of interest exists if investment decisions have
different consequences for the value of equity and the value of debt.

C) In some circumstances, managers may take actions that benefit shareholders but
harm the firm’s creditors and lower the total value of the firm.

D) Agency costs are costs that arise when there are conflicts of interest between
stakeholders.

Which of the following statements is FALSE?

A) Firms with high R&D costs and future growth opportunities typically maintain
high debt levels.

B) The tradeotf theory explains how firms should choose their capital structures to
maximize value to current shareholders.

C) With tangible assets, the financial distress costs of leverage are likely to be low, as
the assets can be liquidated for close to their full value.

D) When a firm i1s highly levered, creditors themselves will closely monitor the

actions of managers, providing an additional layer of management oversight.

Which of the following is not an assumption used in deriving the Capital Asset
Pricing Model (CAPM)?

A) Investors have homogeneous expectations regarding the volatilities, correlation,
and expecteld returns of securities.

B) Investors have homogeneous risk adverse preferences toward taking on risk.

C) Investors hold only efficient portfolios of traded securities that are portfolios that
yield the maximum expected return for the given level of volatility.

D) Investors can buy and sell all securities at competitive market prices without

incurring taxes or transactions cost and can borrow and lend at the risk-free interest

rate.
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Which of the following statements 1s FALSE?

A) When an 1nvestor chooses her optimal portfolio, she will do so by finding the
tangent line using the risk-free rate that corresponds to her investment horizon.

B) If the market portfolio 1s not efficient, savvy investors who recognize that the
market portfolio 1s not optimal will push prices and expected returns back into
equilibrium.

C) Even though different investors may research different stocks, their information
will not impact the market portfolio since there i1s no way to share this information
with other investors.

D) In the real world borrowers pay higher interest rates than savers receive.

Which of the following statements 1s correct?

- A) The CAPM is an ex ante model, which means that all of the variables should be
historical values.

B) The beta coefficient used in the SML equation should reflect the expected
volatility of a given stock’s return versus the return on the market during some future
period.

C) The general equation: Y = a + bX + e, 1s the standard form of a simple linear
regression where b = beta, and X equals the independent return on an individual
security being compared to Y, the return on the market, which is the dependent
variable.

D) The rise-over-run method 1s not a legitimate method of estimating beta because 1t

measures changes 1n an individual security’s return regressed against time.
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Company D has a 50% debt ratio, whereas Company E has no debt financing. The

two companies have the same level of sales, and the same degree of operating
leverage. Which of the following statements 1s most correct?

A) If sales increase 10% for both companies, then Company D will have a larger
percentage increase in its operating income (EBIT).

B) If sales increase 10% for both companies, then Company D will have a larger
percentage increase 1n its net income.

C) If EBIT increases 10% for both companies, then Company D’s net income will rise
by more than 10%, while Company E’s net income will rise by less than 10%.

D) Company E has a higher degree of financial leverage.

E) The two companies have the same degree of total leverage.

Shearson PLC’s stock sells for $42 per share. The .company wants to sell some
20-year, annual interest, $1,000 par value bonds. Each bond will have attached 75
warrants, each exercisable into one share of stock at an exercise price of $47.
Shearson’s straight bonds yield 10%. The warrants will have a market value of $2
each when the stock sells for $42. What coupon interest rate must the company set on

the bonds-with-warrants if the bonds are to sell at par?
A) 8.00% B) 8.24% C) 8.96% D) 9.25% E) 10.00%

In the one factor (APT) model, the characteristic line to estimate Bi passes through the
origin, unlike the estimate used in the CAPM because:

A) the relationship is between the actual return on a security and the market index.

B) the relationship measures the change 1n the security return over time versus the
change in the market return.

C) the relationship measures the change in excess return on a security versus GNP.

D) the relaﬁonship measures the change in excess return on a security versus the
return on the factor about its mean of zero.

E) Cannot be determined without actual data.
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